NT\NIND 1 o 0 s |

[mRE:

ﬁDI

[MBENT\UNIN] M © o v BHENE

A\VJ AW sRat

®
BFLATBAND E] M ELT5y bty

ERaER 18

PR R

0%

ISR ~<— (TPE)

98°C

ELT7ZY MRAVF
AR/ ) Ve i i m |

AWk -Fvbirazon

NV R&fE:SUS 430
MegiEEE TS X h<— (TPE)

Ty bRV —
F BERRIER LS —

MNH -« - Fw bRILE—

BARTSv Y

AW T L—

ELZZv rRAVE

2YN\woIb:SUS 304
AV FvhiSUS 304
NV RAMK:SUS 304
Mgl : TSR h<— (TPE)

GEEBEL 75y FRINUF
BNV IV RT A+

RIVb - Fy b FTAy+

N> K&K SPCC KT A v+
MeigdEls . TSR M<— (TPE)

MYHR—LAR—=TICT, 2D-3D D CAD T—42D

9008

féihE W'

[ P

[YouTube]

AyoO— RN TEELT,
2-sn W | EE B RE | B | @ | | |, |1/7— |#E " PV S 2= LAENR
8 & sG | ®® | W | © |ALr | BN @ |lw | A 2 & 5 = 8 &
SG10110-0015 | 15A | 21.7 | 25 | 0.6 | W3/8 | M6x25| 27| 65.3 | 1.2 | 28 |0Bx0% 200 _ SG10112-0015 SG10115-0015 SG10114-0015
SG10110-0020 | 20A | 27.2 | 25 | 0.6 | W3/8 | M6x25| 27| 68.6 | 1.2 | 28 |0E% 200 _ SG10112-0020  _ SG10115-0020  _SG10114-0020
SG10110-0025 | 25A | 34.0 | 25 | 0.6 | W3/8 | M6x25| 27| 72.0 | 1.5 | 28 |0BN% 200 _ SG10112-0025 _ SG10115-0025 _SG10114-0025
SG10110-0032 | 32A | 42.7 | 25 | 0.6 | W3/8 | M6x25] 27| 76.4 | 1.5 | 28 |0fs% 160 _ SG10112-0032  _SG10115-0032  _SG10114-0032
SG10110-0040 | 40A | 48.6 | 25 | 0.6 | W3/8 | M6x25| 27| 1.4 | 1.5 | 28 [UfExt% 140  SG10112-0040 _SG10115-0040 SG10114-0040
SG10110-0050 | 50A | 60.5 | 25 | 0.6 | W3/8 | M6x25| 27| 85.4 | 1.7 | 28 |(ExN% 100 _ SG10112-0050  _SG10115-0050  _SG10114-0050
SGT10110-0065 | 65A | 76.3 | 25 | 1.0 | W3/8 |M8x25] 27| 9.4 | 2.0 | 28 80 SG10112-0065  SG10115-0065  SG10114-0065
SG10110-0080 | 80A | 89.1 | 25 | 1.0 | W3/8 | M8x25| 27 | 101.8 | 2.0 | 28 60 SG10112-0080 _ SG10115-0080  _ SG10114-0080
SG10110-0100 | 100A | 114.3] 25 | 1.0 | W3/8 | M8x25| 27 | 114.4| 2.0 | 28 40 SG10112-0100  SG10115-0100 _ SG10114-0100
SG10110-0125 | 125A | 139.8 | 32 | 1.5 | W1/2 [M10x35] 45 | 153.3| 2.5 | 35 20 SG10112-0125 SG10115-0125  _ SG10114-0125
SG10110-0150 | 150A | 165.2] 32 | 1.5 | W1/2 [M10x35] 45 | 166.1] 2.5 | 35 15 SG10112-0150  SG10115-0150 _ SG10114-0150
IFLATRAND B witseLosy i E
1 A YA S RE t
AL g 9009
EREED o ERREEE
0% ISR k<— (TPE) 98°C
H
Fv bRIVE—
T BEERALE IV —
AWJ 7)b—
BABTSvY A=t 1aihg W’
HNH -« -y bRILE—
-
E=TEDEL 75y MK G EL TSy MY ELT5y MY K =], B[]
RIVk«F+vb:a1zsn0 RNIVk-F+vbh:SUS 304 RV - Fy b RTAYF [
NV REEKE:SUS 430 NV RFEE:SUS 304 N K&K D SPCC KT Ay 2D 3D
EilE: T>AK<— (TPE) igsEs TS A M<Y— (TPE) igdEis - TS AMY— (TPE) .
YR —LR—=IITT, 2D+ 3D D CAD T—2 D
40— FHTEET, (YouTube]
ju B | PEFIR BE | RiE | RE p et c H A1>F— | %k A% ATV RTAvH ATV L RABNA
2 B sG | ®wE | W) | B:N @ | w) 5 B 2 B 5 E
SG10210-0015 | 15A | 21.7 | 25 | 0.6 | 20 | M6x20 | 47 | 58.2 | 1.2 28 |0BX0% 200 SG10211-0015 SG10215-0015 SG10214-0015
SG10210-0020 | 20A | 27.2 | 25 | 0.6 | 20 | M6x20 | 47 | 6l.1 1.2 28 [0ExD& 200 _ SG10211-0020 _ SG10215-0020  _ SG10214-0020
SG10210-0025 | 25A | 34.0 | 25 | 0.6 | 20 | M6x20 | 47 | 64.9 | 1.5 28 [0E8% 180  SG10211-0025  SG10215-0025  SG10214-0025
SG10210-0032 | 32A | 42.7 | 25 | 0.6 | 20 | M6x20 | 47 | 60.4 | 1.5 28 [0Bx6% 160 _ SG10211-0032 _ SG10215-0032  _ SG10214-0032
SG10210-0040 | 40A | 48.6 | 25 | 0.6 | 20 | M6x20 | 47 | 72.4 | 1.5 28 [0@x4% 140 SG10211-0040  SG10215-0040 SG10214-0040
SG10210-0050 | 50A | 60.5 | 25 | 0.6 | 20 | M6x20 | 47 | 78.6 | 1.7 28 [0B0% 100 _ SG10211-0050  _ SG10215-0050 SG10214-0050
SG10210-0065 | 65A | 76.3 | 25 | 1.0 | 20 | M6x20 | 47 | 87.8 | 2.0 28 60 SG10211-0065  SG10215-0065 _ SG10214-0065
SG10210-0080 | 80A | 89.1 | 25 | 1.0 | 20 | M6x20 | 47 | 943 | 2.0 28 50 SG10211-0080 SG10215-0080  _ SG10214-0080
SG10210-0100 | 100A | 114.3] 25 | 1.0 | 20 | M6x20 | 47 | 106.9 | 2.0 28 30 SG10211-0100  SG10215-0100 _ SG10214-0100
SG10210-0125 | 125A | 139.8| 32 | 1.5 | 25 | M10%35 | 65 | 138.3 | 2.5 3 2 SG10211-0125 SG10215-0125  _ SG10214-0125
SG10210-0150 | 150A | 165.2| 32 | 1.5 | 25 | M10X35 | 65 | 151.0 | 2.5 3 15 SG10211-0150  _ SG10215-0150 _ SG10214-0150

No
~



